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13.1.1 T& e &t Gar (Limit of a Function)
A £, 3fa0el 15 aRefod Tk %o 21 g9 faet 1o frdt fag o W e £ a6t dim
1 STAHROT T ST H |

T wed ¢ fF M S () x = ¢ fiv) 1 erifera 7 2, foFe o o g iR frape
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Al & fau £ o 99 & €1 98 JH o W £ < ue B HE deand 2
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Haren & ‘TJT%Tﬁ (Some properties of limits)
M AT fF /7 iRg 3 T8 e ® fF lim £(x) 3R lim g(x) 9 1 eifqe 21 ad
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Al o Tdchetsl Rl STSTTOTT (Algebra of derivative of functions) Fifn
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sin (2 + x) —sin(2 — x)
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x—0 X x>0 X
2co0s 2sin x
= lim————
x—0 X

. sinx . sinx
2cos2 lim =2co0s2 (as lim = ]
x—0  x x=>0  x

SATET0T 6 YoM Tagid T WAl W f(x) = ax + b 1 STTRAS T BT el AT b
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38701 8 Yom fagid &1 Wl ¥ f(x) = x3 1 3Thas A1d hifeu)

ol R o STTER

J'()

i L) = ()

h—0 h

3.3
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sin —
= lim cos (2x+ 1) - lim
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2

cos x.1 = cos x
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3EIeL0T 13 x2 cosx <hl WWW
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tan x — sin x
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cos ax — coshx
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=a’sinax 0+ a*cosa (l)+2asina

=qa*cos a+ 2a sin a.
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sin (x+ h)—sinx
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N . sin3x
14. Find ‘2, if lim = =80, ne N 15. lim=
X522 x— x—0 sin 7x
. sin?2x . 1—cos2x . 2sinx —sin 2x
16. lim— 17. lim———= 1. lim—————
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